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T 20l4F LIS S AITH AR Dt

Al A

A SAITHAE D
A HYRAZHI(ZAIHALL)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 14,885,062 16,009,721 1,124,669
= 14,000
[ 7,608,000
= 44,000
Al 7,219,052
HH2LZHI(ZAITHA D) 27,364 27,364 0
J1I=288l 27,364 27,364 0
JI=23Hl 27,364 27,364 0
201 2egh=3| 15,074 16,074 0
01 At2t2ltl 16,074 16,074 0
Oggtrzg] 8,162
—JIZ2 MNFRES 7Y 30,0003 *21& 630
—YRFN A FY 20,0002 x102 200
—A24 25 7Y (BIFSH)
100,000« 12& 1,200
—A72 =4 50,000& * 122 600
—NEAss 10,0002 x5+ 122 600
—ZJ|dE= 66,0002 23] 132
—Zd=E)| gz 400,000 123 4,800
OJl=ge =8 Sl
8,000 x18& 43| 122 6,912
202 04l 6.490 6.490
01 =LHAHI 6,490 6,490
OJI2sS =0l 6,490,000& * 1A 6,490
203 =4l 4,600 4,600
03 A=A PR FX| 1,000 1,000
OAH R =] 1,000,000& 124 1,000
M FA2HARFAI 3,600 3,600 0
ORNSgERF=AHI 300,000 * 122 3,600
204 APt AH| 1,200 1,200
01 MG HR-HHH] 1,200 1,200
Oz 100,000& ~ 12 1,200
CAIAE 573,157 1,558,157 /885,000
SAIZ A& 573,157 1,558,157 985,000
SAIZe[HE A 18,157 18,157 0
201 =3 14,557 14,557 0
01 At2t2lt] 14,557 14,557 0
Oggt=3=H| 11,677
—SAHEHIANE HE(EH ¥ EA)
100,000 #3214 300
—TAAHEANEZE MESI=
3,545,500 32 10,637




S SAITA D
H: CAHE

CHel: ZAIZE|HE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SAHE 23 BEAS 2L
20,0002 321 60
—CAIE B #EEY S 25 2
15,0003« 1224 180
—CAAEREE 2E, TAAE A S
O A28 7Y 50,000& %104 500
OZAIAEES =& S
2,880,000& %124 2,880
202 04dl 3,600 3,600
01 2L AL 3,600 3,600
O=U048l 3,600,000 124 3,600
SAIHE FEHA(PIS) BRH 40,000 40,000 0
201 =3 20,000 20,000
02 35244l 20,000 20,000
O AIAHEEZHMAI(UPIS) AIAEI(HMW) [XI2
= 10,000,000& * 124 10,000
OZAIHEFZHH(PIS) 2TEAN 2
10,000,000& * 124 10,000
207 ARl 20,000 20,000
02 MARHEHH] 20,000 20,000
OZAIHEHEHAH(PIS) 0B 7=
20,000,000 *124 20,000
20308 Z2 TAlZeH = 8 29 500,000 500,000 0
401 Al HIZL 201 500,000 500,000 0
01 Al&H| 500,000 496,400 3,600
02030 2 TAlZe|HE =8 2
500,000,000& *1A4 500,000
HaX7 o2+ & BEdXAL 89 15,000 200,000 /185,000
401 AIZHIX S0HH 15,000 200,000 /185,000
01 A28l 15,000 200,000 A185,000
OH4XIT JlErd & g XA S9
15,000,000 *124 15,000
KEIkse TAldE 13,881,351 12,991,004 890,347
= 7,608,000
< 44,000
Al 6,229,351
CAITHAAS 13,881,351 12,991,004 890,347
= 7,608,000
== 44,000
Al 6,229,351
CAITHA AFE 19,270 370,670 A351,400
201 2= 9,670 9,670 0
01 AtR2t2lt] 9,670 9,670 0
OEANYHR =8 S|
8,000 x8EH*10&* 122 7,680
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CHelr SAITHA AL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFANYHET LEt=HH| 1,990
—CAMY 3ot & BOAM ME
100,000 %102 1,000
—TANY 2 AE 2Y
30,0008 *52 150
~CATY 2F ARE 79
70,000& * 122 840
202 04t 9,600 9,600
01 =LHOHI 9,600 9,600
O=LHoHI 20,0002 «8EH 52 x 12 9,600
A AlEdE 282 30,000 10,000 20,000
401 AIEHIZ SR THYI 30,000 10,000 20,000
01 Al 30,000 10,000 20,000
OZAHMAIEE SN2+
30,000,000 *14{ 30,000
Z2EsS TAHY SE ALY 1,249,820 6,383,000 A5,133,180
= 750,000
Al 499,820
201 Ler23| 64,800 20,400 44,400
= 38,880
Al 25,920
02 S3=gHl 64,800 20,400 44,400
OZAIMAEXZHEH 24 64,800
—&JIes 5,000,000& ~12& 60,000
[ 36,000
Al 24,000
—Ste=s 200,000 * 122 2,400
= 1,440
Al 960
— 2= 200,000& * 128 2,400
[ 1,440
Al 960
401 Al HIZL S 0HYI 1,185,020 6,350,600 A5, 165,580
= 711,120
Al 473,900
01 Al&H| 1,185,020 6,259,600 5,074,580
OBYS TATHY =ML
1,185,020,000& » 14 1,185,020
= 711,120
Al 473,900
0SS FAXNSHE 2P ZAL 802,000 699,000 103,000
[ 608,000
= 44,000
Al 150,000
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CAITHA D}
N&obsst SASE

S o LT oo

el SAITHAANS (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
401 Al HIZL 2018 802,000 699,000 103,000
= 608,000
== 44,000
Al 150,000
01 A<l 789,000 695,000 94,000
OOIAIDIS FOXIHMB0I21INE A Al&
Bl 789,000,000& x14] 789,000
= 608,000
== 44,000
Al 137,000
02 2l 10,000 0 10,000
O4Ilts HAXNHUS 21N AL 2l
Bl 10,000,000& x 14! 10,000
03 Al =2 THHI 3,000 4,000 21,000
OI0tS FAXNSGHEHHIMEZA AlE
Sasilsl 3,000,000& %14 3,000
Z2ES DAY EAME 5,413,333 1,666,667 3,746,666
= 3,250,000
Al 2,163,333
401 Al HIZL 201 5,413,333 1,666,667 3,746,666
s 3,250,000
Al 2,163,333
01 A&l 5,318,333 1,581,667 3,736,666
OZgs TAIMY I A
5,318,333,000& 5,318,333
= 3,250,000
Al 2,068,333
02 Zeltl 90,000 80,000 10,000
OZgsS TAIMY AFAE Zeltl
90,000,000 90,000
03 Al 20HHI 5,000 5,000 0
OZgsS TAIMAY IFAE AIE=0i8I
5,000,000& 5,000
=23 TAIHY IEAY 6,096,928 0 6,096,928
[ 3,000,000
Al 3,096,928
401 AIEHIZ SR THYI 6,096,928 0 6,096,928
[ 3,000,000
Al 3,096,928
01 A<l 6,000,000 0 6,000,000
=25 TAIMY IE A
6,000,000,000& 6,000,000
= 3,000,000
Al 3,000,000




AITHA AL (el @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02 2eldl 90,428 0 90,428
=SS TAITHM CIEALS
90,428,000 90,428
03 AlE 2 CHYI 6,500 0 6,500
O=5= TAIMM QIEAS
6,500,000 6,500
32HE =8 84 270,000 0 270,000
401 Al HIZL 200 270,000 270,000
01 Al&HI 270,000 270,000
OZAMHE LN E =8 823
200,000,000 x 14! 200,000
OZAMMHEIAEY & S2H2 =8 Y
20,000,000 & *23| 40,000
OF AN AMSHAHPZASE S2HE 8
= 30,000,000 13 30,000
SAIZZ 268,240 1,353,640 1,085,400
SAIZ 22 126,240 13,640 112,600
SAZZHRFA 26,240 13,640 12,600
201 L2 | 22,640 10,040 12,600
01 At 22|l 5,240 5,240 0
OgEt=2H| 3,800
—Z& & I3ONAAJE 3o [z
SEOM M 10,0002 x20E x53| 1,000
—Z2& & 30N 2 dEME 2L
20,0003 10 200
—Zd2 & 330N S2AMY S2A M
& 10,0002 x20% 200
—32AtY SXI8A AR5 7Y
250,000 »23| 500
-3 L 3Ol 2R M
35,0003 x40 1,400
—Z2RA43 2Y 4225 7
50,0003+ 103! 500
OZAZ2AHR =& S|
8,000 x3H 52« 123 1,440
02 E324H| 17,400 4,800 12,600
OCIRIAIg I 2] HEEsF &, OXE 52
2(10I12A37) M2 U¥
1,100,000& = 12& 13,200
Ootxg sgZ20(312A3) S4l YR
350,000& =123 4,200
202 04d| 3,600 3,600
01 =WOdbI 3,600 3,600
O=3Udbl 20,0002 *3H+52U « 12& 3,600
Z2UAl BSLIAL HEHE 8 9 100,000 100,000
401 AIEHIZ20HHI 100,000 100,000




SA CAITHAD
MM CAR

2l SAIZ 22t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At 100,000 0 100,000
OBRZUINE IEHE 28 B
100,000,000 *14] 100,000
FNEAS 142,000 1,340,000 1,198,000
Jt2F 2 JHE A 142,000 140,000 2,000
401 Al HIZ S OHbI 142,000 140,000 2,000
01 AlZ2H| 142,000 140,000 2,000
OEAIZ 2 FX2e| At
20,000,000 *5I 2 100,000
OZAZENE BRAY 48 £
5,000,000& »4A 20,000
ONBE ZBEY B2
15,000,000 * 14 15,000
OURXE s0Z1(31243) KAl
7,000,000 * 14 7,000
HIOIRU=E Helx=4 124,538 69,104 55,434
= 14,000
Al 110,538
2023 FF 7,138 6,704 434
1= 22 7,138 6,704 434
201 fer=3| 6,938 6,504 434
01 AtR2t2|HI 4,618 4,618 0
Osgdil=s 2583 78l
20,0003 *75+53] 700
OsglE =18 XYDISE(504 )7
13,0003 x30~ 123 468
O&l= oL ALIER 2R A S
5002 *2,5000H 1,250
O=d21s &M 2EH MA
1,2002 *1,000% 1,200
O=g&10E HDE AEA M
1,000&+1,000% 1,000
02 S3=gl 2,320 1,886 434
O=¥dl= gl g 284 2,320
—==U 1,840 *40L+22] * 1204 1,767
—sXl2ell 553,000 ~1CH 553
301 EtE NS 200 200
11 dALEEIXIZE S 200 200
O=2dl=s 2d 2tg3 BHl S
20,0003 %102 200
OISU=2 Helxd 117,400 62,400 55,000
= 14,000
Al 103,400
1= Zdl A 117,400 62,400 55,000
= 14,000
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S AIRH A4 D

33 HORl=E Helxd
s ot Helxd (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 103,400
101 @1A4H| 60,000 50,000 10,000
04 JIZtN2Z2 XS 2+ 60,000 50,000 10,000
O=8dl= QA 23
60,000,000 60,000
202 04| 2,400 2,400
01 SLHoIH 2,400 2,400
Osgzgls FH|(32A
20,0002 x102 %1204 2,400
401 AIEHIX SO 10,000 10,000
01 AlZH| 10,000 10,000
O =8 HAAU & B28 RX2+
10,000,000 * 14! 10,000
405 AtatE = 45,000 0 45,000
= 14,000
Al 31,000
01 AL =S F=HI 45,000 0 45,000
OS8xtg 7Yl 45,000,000 45,000
= 14,000
Al 31,000
ENP 10,402 10,452 A50
SAIDHE A 10,402 10,452 A50
CADHEEMERFA 10,402 10,452 A50
201 2= 6,312 6,312
01 A2zl 4,512 4,512
oMzl 1,440
— AT S 500, 00021 24! 1,000
—B4 AS8E 2 30,0001 21 300
—EA M2 NE Y 20,00024%72 140
OSANBFL 27 22
8,0002 x4 +8ed~ 123 3,072
2 35234l 1,800 1,800 0
OAlE &8I Xl 1,800
—SY 2L (MH) |2+
1,800,000 *14] 1,800
202 04| 3,840 3,840
01 =LHOLI 3,840 3,840
O=LH04H| 3,840,000& x14 3,840
301 EtE NS 250 300 A50
11 dAMEEIXIZE S 250 300 250
O24Eos F41t 2o
250,000 *14] 250




